Adding Integers with Context Name _“3 o \.U» %w oN §

For many students it is easier to remember sign rules when they put the problems into context. The two most
useful contexts for adding integers, or signed whole numbers, are money and the number line. Try both and
see which one you prefer.

MONEY

= q 2 — g i
1 $6+ 57 = ‘\ L S 2. $2+(-%7) = ~k D
(you have $6, then get $7 more) (you have $2, then spend 7)
3. $3+(-$9) = — ¥ i 4. -$10+$2 ¥ 8
{you spend $3, then spend $9) (you spend $10, then get S2 back)
5. 114(—4) = -/ 6. —14+7 = — "f
7. 3 = O 8. —9+(—9) = - i *zg

THE NUMBER LINE

0. 445 = 1 10. 4+(-5) = — \

tart 4 ight 5
(startion 4, mave vight 3) (start on 4, move left 5)

11, 4+(-5) = — 6[ 12, 743 = — LJi

start on -7, move right 3
(start on -4, move left 5) ( ght 3]

13. 15+(_6) = L;l 14, 1322 = — | \

15. -8+8 = (D 16. 6+(-6) = I ¢
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Use either context to do these problems. Show your steps when there is more than one operation.

17. —7+(—8) =—] \'5)- B e S (/
19. 10+(—6) — lﬁl 56, 3+(—8) — g
21. —6+(-8)+7+3 22. 30+(~11)+3+(-16)

S l"‘{ +7 1.__'3 \‘“«m><‘7=__,_4/
= —-7+73 =33+ (-27)

!.._i
23. Whlch context do you prefer and why? — E:,

24. The lowest elevation on the surface of our planet is at the Dead Sea in Israel, with an elevation of 1,401
feet below sea level. The highest elevation on the surface on our planet is at the top of Mt. Everest, which is
30,430 feet above the Dead Sea. Find the elevation at the top of Mt. Everest by adding two integers. Draw a
picture, show your work and write your answer in a complete sentence.

level

25. At the end of last month your checking account balance was $307. So far this month you got pa|d 5515
spent $284 on groceries, $28 on coffee at PCC, and returned an item to the store for a credit of $25. What is

your new balance? Show all of your steps in an organized way and write your answer in a complete sentence.
SO PSS — TR R 267
S1s
=307 +SIS+ 284+ )+ AS ’TZ;‘T
=847 +(3) g4
=S ?) S e Nero LY 5

ba\ama Lo %g%g Fage &

( 30,430 + (—I4o|) = 29,029
o430 . Mt everes
o4Fo A
— |, 4o\ : .._S\ \:*o ( s 29,0049 £+
ped T 29,029 albove Sea—
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